## CATAHOULA PARISH

## PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		10,600.0	1,120.00	11,872,000	lbs.	\$5,342,400
Lint - Non-irrigated (Total)		41,264.0	930.00	38,375,520	lbs.	\$17,268,984
Cotton (Total)	73	51,864.0				\$22,611,384
FORESTRY						
Pulpwood						
Pine				63,928	cords	
Hardwood				21,512	cords	
Pulpwood (Total)				85,440		
Chip & Saw (Total)				31,436	cords	
Saw Timber						
Pine				9,598,539	board feet	
Hardwood				1,623,135	board feet	
Saw Timber (Total)				11,221,674		
Total Pulpwood, Chip & Saw,						\$15,105,123
Saw Timber FOB Mill						
Total Forestry Stumpage						\$7,859,978
(Total)						
Christmas Trees (Total)	*			100	trees	\$4,000
Forestry (Total)						\$15,109,123
FEED GRAINS						
Corn (Total)	58	18,789.0	108.00	2,029,212	bu.	\$4,443,974
Grain Sorghum (Total)	29	13,236.0	50.40	667,094	cwt.	\$2,388,197
Oats (Total)	*	166.0	45.00	7,470	bu.	\$13,969
Feed Grains (Total)		32,191.0				\$6,846,140
HAY FOR SALE						
Grass (Total)	15	2,950.0	1.40	4,130	tons	\$247,800
Hay for Sale (Total)		2,950.0				\$247,800
Home Gardens (Total)	250					\$65,000
NURSERY CROPS						
Woody Ornamentals (Total)	*				acre	\$50,000

NURSERY CROPS						
Foliage Plants (Total)	*				acre	\$20,000
Nursery Crops (Total)						\$70,000
OTHER OILSEED						
Sunflowers (for oil) (Total)	*	32.3	1,000.00	32,299	cwt.	\$461,230
Other Oilseed (Total)		32.3				\$461,230
PECANS						
Improved (Total)	*	120.0	510.00	61,200	lbs.	\$79,560
Native (Total)	10	35.0	190.00	6,650	lbs.	\$5,985
Pecans (Total)		155.0				\$85,545
Rice (Total)	*	7,249.0	44.60	323,305	cwt.	\$2,279,300
Soybeans (Total)	86	52,328.0	29.00	1,517,512	bu.	\$8,968,496
VEGETABLES						
Tomatoes (Field) (Total)	*	2.0	250.00	500	lugs (20 lbs.)	\$10,000
Watermelon (Total)	*	1.0	150.00	150	cwt.	\$1,200
Vegetables (Total)		3.0				\$11,200
Wheat (Total)	8	2,516.0	60.00	150,960	bu.	\$495,149
TOTAL ALL PLANT ENTERPRISES						\$57,250,366

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Productio	Units of Measure	Gross Farm Value	
AQUACULTURE						
Crawfish (Farm) (Total)	*	350 Acres in	n Prod. 35,0	00 lbs.	\$19,250	
Catfish (Farm) (Total)	*	75 Acres in	n Prod. 112,5	00 lbs.	\$78,750	
Minnows (Total)	*	350 Acres in	n Prod. 95,0	00 lbs.	\$285,000	
Fish bait (Total)	*		1,5	00 lbs	\$9,750	
Turtles (Total)	36		1,200,0	00 each	\$540,000	
Aquaculture (Total)					\$932,750	
Fur Animals (Total)				24 pelts	\$233	
Alligators (Wild) (Total)				97 ft.	\$2,925	
HUNTING LEASES						
Waterfowl (Total)	40	80,000 No. Act	res	acre	\$4,000,000	
		Leased				
All Other Game (Total)	50	85,000 No. Act	res	acre	\$595,000	
		Leased				

CATAHOULA PARISH

CATAHOULA PARISH	FISHERIES &	WILDLIFE ENTERPRISES PRO	DUCTION		
	Number of	Units of	Total	Units of	Gross Farm
Fisheries	Producers	Production	Production	Measure	Value
Hunting Leases (Total)					\$4,595,000
Honey (Total)	*	140 No. Hives	9,000	lbs.	\$5,310
TOTAL ALL FISHERIES & Y	WILDLIFE ENTERPRISES				\$5,536,218
	ANIN	IAL ENTERPRISES PRODUCTION	<u>N</u>		
	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			920	head	\$490,438
400-500 lbs.			1,060	head	\$641,422
500-600 lbs.			480	head	\$315,401
600-700 lbs.			100	head	\$73,684
Steer Calves (Total)					\$1,520,945
Heifer Calves					
300-400 lbs.			1,150	head	\$537,941
400-500 lbs.			920	head	\$503,300
500-600 lbs.			310	head	\$192,085
Heifer Calves (Total)					\$1,233,326
Yearling Cattle					
700-800 lbs.			300	head	\$2,003
Yearling Cattle (Total)					\$2,003
Cow-Calf Pairs (Total)			125	pair	\$122,391
Cull Cows (Total)				head	\$217,995
Cull Bulls (Total)			20	head	\$18,561
Cattle & Calves (Total)	134	5,900 No. Cows			\$3,115,221
HORSES		,			
Brood Mares					
Race Horses	*	67 No. Brood Mare	s 45	head	\$360,000
Show Horses	*	10 No. Brood Mare		head	\$32,000
Recreation Horses	30	90 No. Brood Mare		head	\$112,500
Brood Mares (Total)					\$504,500

HORSES						
Stud Fees						
Race Horses		3	No. Stallions	40	mares bred	\$100,000
Recreation Horses		$\epsilon$	No. Stallions	105	mares bred	\$52,500
Stud Fees (Total)						\$152,500
Race Horses (Total)	*			20	head	\$240,000
Show Horses (Total)	40			85	head	\$425,000
Recreation Horses (Total)	150			300	head	\$450,000
Horses (Total)						\$1,772,000
RABBITS						
Fryers (Total)	*	2,000	No. Animals	6,000	lbs.	\$4,800
Does (Total)	*	280	No. Animals	2,200	lbs.	\$330
Rabbits (Total)						\$5,130
GOATS						
Slaughter Goats (Total)				350	head	\$37,975
Stocker Goats (Total)				25	head	\$2,163
Cull Goats (Total)				50	head	\$3,000
Goats (Total)	12	225	No. Does			\$43,138
SWINE						
Feeder Pigs (Total)				210	head	\$6,552
Slaughter Hogs (Total)				80	head	\$10,452
Culls (Total)				10	head	\$1,680
Swine (Total)	*	18	No. Sows			\$18,684
TOTAL ALL ANIMAL ENTERPRISES						\$4,954,173

**CATAHOULA PARISH** \$67,740,757 93